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(_ BANK PO PHASE-I MOCK TEST-39 (SOLUTION) )

REASONING
Solutions (1-5):
| Shlahrukhl Sidlharth :(I:“(:Zi:l South
Salman Shahid Akshay Ranveer g South)
KatrinapriTankaKareena Ralveena Aliya Deepika Row 2
(Facing North)
1. (2 2. (1) 3. (3)
4. (1) 5. (4)
Solutions (6-10) :
in - pu
order — ve
only — na
serial — to
the — su
state — 1i
idea - jo
logical — ri
or / theory - zt / bk
6. (5 7. (3) 8. (1)
9 4) 10. (2)

Solutions (11-15):

11. (4) None of the course of action is suitable
for pursuing. If the company VARNY
would not manufacture ball point pens,
some other company may introduce ball
point pens in the market, Similarly,
some other company may introduce gel
— ink pens in the market.

(4) As the recession is worldwide
employment scenario in other countries
would also have adversely affected.
Therefore, course of action I is not
suitable for pursuing. Course of action
IT lacks practical approach.

(4) None of the courses of action is suitable
for pursuing.

(1) Only course of action I seems to be
suitable for pursuing.

(2) Only course of action II is suitable for
pursuing.

Solutions (16-20) :

16. (2) 17.

19. (5) 20.

Solutions (21-25) :

For (21-22):

()

12.

13.
14.

15.

(1)
(4)

18. (1)

O Y Sramma>

21. 22. (1)

Ph: O955510888S8,

23. (2)

Eraser

For (24-25) :

Cstar G
24. (4)
25. (5)
Solutions (26-30) :

3 Moon D~ Sun

Uma

Smriti

& %
& %,
Suresh Rajnath
Anant
26. (3) 27. (1) 28. (4)
29. (3) 30. (5)

Solutions (31-35) :

It is evident that in each step one word and a
number are rearranged. In first step, the word
which comes first in English alphabetical series
and the highest number are moved to the
extreme left position. In the second step, the
word which comes second in English alphabetical
series and the second highest number are moved
to the extreme left position. The same procedure
is continued till all the words are arranged in
the reverse alphabetical order from left to right
and all the numbers get arranged in ascending

order.
Input: money 48 24 18 wanted for investment
65 90 lock credit 32

StepI: credit 90 money 48 24 18 wanted for
investment 65 lock 32

Step II: for 65 credit 90 money 48 24 18 wanted
investment lock 32

Step III: investment 48 for 65 credited 90 money
24 18 wanted lock 32

Step IV: lock 32 investment 48 for 65 credit 90
money 24 18 wanted

Step V: money 24 lock 32 investment 48 for 65

credit 90 18 wanted

09555208888




£0

KD Campus
2007, OUTRAM LINES, 1ST FLOOR, OPPOSITE MUKHERJEE NAGAR POLICE STATION, DELHI-110009

Step VI: wanted

31.
34.

36.

37.
40.

41.

42.

43.

44,

45.

46.

47.
48.

49.

50.

51.

18 money 24 lock 32
investment 48 for 65 credit 90

Step VI is the last step.

3) 32. (2)

(5) 35. (4)

Maths

33. (1)

27
2

5 =45

) 38. (5)
(3)

(4) 1518 16 19 17 20 ?
[ I I |

+1 +1 +1
67I.2 26.?8 10.7|52
+2.5 2.5 2.5

39. (2)

(1) 1050 420 168
2.5 2.5

(5) 0 6 24 60120 2107
L4l 4L 41 4| 4 ¢

+6 +18 +36 +60 +90 +126

12 +18
\ ?=210+ 126 =336

(3) 32 49 83 151 287 559 ?
| Il IL Il Il I |
+17 +34 +68 +136 +272 +544

2) 462 552 650 756 870 997, ?
| I I I I I |
+90 498 +106 +114 +122 +130

(1) ?=15554.999 + 50.007
» 5355+ 50 » 110
(1) ?=(18.001)® » (18)*>=5832 , 5830
(3) »=23.001 x 18.999 x 7.998
» 23 x 19 x 8 = 3496 » 3500
(4) ?=(9999+99)+9=(101+9)=11.2 » 11

+24 +30 +36

(2) ? = 449.999 x 22:005 o, 22
100 100

=99 » 100
(1) I. 16x2+20x+6=0
p 82+ 10x+3=0
p @x+3)(2x+1)=0
3 1

32

II. 10y? + 38y + 24 = 0
b S5y + 19y+12=0

\ox=-

\ (y+3)(Sy+4)=0
sl d
\ y=-38or-g
Hence, x>y

Ph:

54.

09555108888,

52.

53.

55.

(2) I. 18x*+18x+4=0
P 92+9x+2=0

p Bx+2)(B8x+1)=0
2 1

373

II. 12y?+ 29y + 14 =0
p By+2)4y+7)=0

Vo ox=-

2 7

LUttty

Hence x3 y

4)I. 8x2+6x-5=0

p @4x+5)(2x-1)=0
5 1
3% 2
II. 127 -22y+8=0
p 6y2-11y+4=0
P Qy-1)By-4=0

\ox=-

Hence , x £ y
B)I. 17x2+48x-9=0
p (x+3)(17x-3)=0

=_3 _—
P x or 17

II. 18y - 32y + 12=0
P (y-2)(13y-6)=0

o ©
| Yy=<or i3

Hence x< y
(5) I. 4x+7y=209...... (i)
II. 12x- 14y =-38
Now, (i) x 2 + (ii), we have
12x- 14y =-38
8x+ 14y =418

or 20x =380

_380 5
\ X0 T

Now, putting the value of x = 19 in
equation (i), We have,
4 x 19+ 7y =209
or, 7y=209-76=133
133
\ =5 19
09555208888
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56.

57.

58.
59.

60.

61.

62.

63.

64.

7 \
(2) For city B = 131857 x — = 83909 65. (2) Difference A = J170000)" = LU
11 & 100 174
. 5 =2900;
For city C = 116536 % P 72835 ;
18 , 44
diff. = 11074 Difference B = (170000) 100 Tsf=6800;
. ~ 5
(1) Total adult in city A = 105623 x - + Difference C = (170000) % 316437 3400 ;
11
100249 x 1~ = 140312 3
Difference D = 8(170000) ol 13u =5100;
(4)
(5) : 16 , 7- 93
. Difference E= §(170000)' m' 16 E——34OO
(3) minor female in city A = 100249 x 17 =
35382; minor female in city B = 115110 Difference = §(17000O)' % gﬁ= 3400
4 686
x 75 = 30696, ;reqd. % = 75 0 x 100 Difference = 2900 + 6800 — 3400 + 5100 —
3400 + 3400 =11400
= 15% approx.
9 8 D1 D2 D3 D4 D5
(3) Sale of A= 170000 x ﬁ X ﬁ = 23200 M F M F MIFl M F M F
. 450(312[210(180|120(90[315[210|405[408
Sale of B = 170000 x 100 X18 11900; 66. (2)
Sale of C = 170000 x —x % = 13600; | 315
aleot &= 100 * 7 » 167 (3) 1550 X 100=21%
Total sale = 48700
(2) 68. (4) 189 100 = 40%
: 450
16 , 9u
170000 d 90
_ { )" 100 164 69. (4) 5~ x 100 =75%
(2) ratio = =3:2 120
¢a70000) 1O - Su
§ 100 54 70. (3) 405:450=9:10
(3)

Ph: O955510888S8,
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[ VOCABULARIES ]

Words Meaning in English Meaning in Hindi

PARADIGM A typical example or pattern of something ueuk] mnkgj.k

INEQUITABLE Unfair; unjust vufpr

LANGUISH Suffer from being forced to remain in an unpleasant {io.k gkuk] en ghuk
place or situation.

ARBITRARY Based on random choice or personal whim, rather than euekuk

any reason or system.

CONTEMPLATE  Look thoughtfully for a long time at

INTUITIVE Using or based on what one feels to be true even without
conscious reasoning; instinctive.

DELEGATE Entrust (a task or responsibility) to another one

PURSUIT The action of following or pursuing someone or something

DISSEMINATE Spread or disperse (something, especially information)
widely.

CONVENTIONAL A generally accepted theory or belief

WISDOM

ACCOUNT To be a particular amount or part of something
(for something)

EMBRACE An act of accepting or supporting something willingly or
enthusiastically.

HUNCH A feeling or guess based on intuition rather than known facts

ARREST To stop a process or a development

ACCEDE To agree to a request, proposal, etc

BREACH An act of breaking or failing to observe a law, agreement,

or code of conduct.

Ph: O9555108888, 095552088s8sS8S

euu dju] fpru djuk
Igt Kiu Ic/h

dib dke Iiuk
y{; djuk
i Iijr djuk

iljifid Ku

ol gL 1K ghuk

Lohdlj djui] “ifey djuk

1 gtéKiu
jhduk
elu yu
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BANK PO PHASE -I MOCK TEST - 39 (ANSWER KEY)

O ®» N o o p WO N H

N N N N N N = o o e e el e e e
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(2)
(1)
(3)
(1)
4)
(S)
(3)
(1)
4)

- (2)
- 4)
- (4)
- (4)
- (1)

(2)
(2)

- (1)
- (1)
- ()
- (4)
- (5)
- (1)
- (2)
- (4)
- (5)

26. (3) 51. (1)
27. (1) 52. (2)
28. (4) 53. (4)
29. (3) 54. (3)
30. (5) 55. (5)
31. (3) 56. (2)
32. (2) 57. (1)
33. (1) 58. (4)
34. (5) 59. (5)
35. (4) 60. (3)
36. (1) 61. (3)
37. (4) 62. (2)
38. (5) 63. (2)
39. (2) 64. (3)
40. (3) | 65. (2)
41. (4) 66. (2)
42. (1) 67. (3)
43. (5) 68. (4)
44. (3) 69. (4)
45. (2) 70. (3)
46. (1) 71. (2)
47. (1) 72. (4)
48. (3) 73. (5)
49. (4) 74. (1)
50. (2) 75. (4)

76.
77.
78.
79.
80.
81.
82.
83.
84.
85.
86.
87.
8s.
89.
90.
91.
92,
93.
94,
95,
96.
97.
98.
99,
100. (3)

(3)
4)
(S)
4)
(3)
(2)
(2)
(4)
(1)
(1)
(S)
(1)
(2)
4)
(4)
3)
(1)
(2)
(S)
(2)
(2)
(1)
()
(3)

(Note:- If you face any problem regarding result or marks scored, please

contact 9313111777

)

(Note:- If your opinion differs regarding any answer, please message the moc@

test and question number to 8860330003

Ph:

09SS5S5S5108888, 09555208888




